

# SURAT MUNICIPAL CORPORATION WEST ZONE QUOTATION/CONSENT FORM

QUOTATION NO. DY.COMMISSIONER /West Zone/31/2024-25 DATE: 09/12/2024

Name of Work પશ્ચિમ ઝોન (રાંદેર) માં રાંદેર, પાલ, અડાજણ, પાલનપોર, જહાંગીરાબાદ, જહાંગીરપુરા, વરીયાવ, પીસાદ, અડાજણ ગામતળ, ભાઠા, ભાટપોર, ભેંસાણ, ઈચ્છાપોર તથા રાંદેર ઝોનના સમગ્ર વિસ્તારમાં પાણીની નળિકાના વાલ્વ ચેમ્બરનું મરામત કરવાનું કામ.

સમ	ાત્ર વિસ્તા૨માં પાણીની નિ	પ્રકાના વાલ્વ ચેમ્બરનું <sup>:</sup>	મરામત કરવાનું કામ.			
ESTIMATED AMOUNT Rs.5,00,000/-			EMD AMOUNT: Rs.5,000/-			
va	lidity period : 120 Day	<b>/</b> S	Agency Catego	ry : E-1 & experienced		
		Require	Documents			
1 Solvency Certificate				Yes		
2	GST Registration Ce	rtificate		Yes		
3	Experience Certificate	е		Yes		
4	4 Authorized Letter			Yes		
5	Registration Certifica	te		Yes		
		QUOTATION/CO	NSENT AVAILIBIL	ITY		
IS	SUING AUTHORITY	Executive Engineer, West Zone, Surat				
ISSUING OFFICE		Administrative office, West Zone(Rander), Balasaheb Devras Road, Tadwadi, Rander, Surat				
INVITING AUTHORITY		Executive Engineer, West Zone, Surat				
	Submition Date	Last date:16/12/2	2024			
		SUBMITTED To,				
Time : 18.00 P.M.		EXECUTIVE ENGINEER ADMINISTRATIVE BUILDING, WEST ZONE (RANDER), BALASAHEB DEVRAS ROAD, TADWADI, RANDER,				

GST CLAUSE FOR CONSTRUCTION/ ERECTION/ COMMISSIONING/ INSTALLATION/ REPAIRS/ MAINTENANCE/ RENOVATION/ FABRICATION OF STRUCTURE INCLUDING BUILDING (MEANS ALL WORKS CONTRACT/ TURN KEY PROJECT/ SUPPLY OF MATERIAL/ GOODS)

**SURAT** 

GST (Goods and service tax has come in existance from 1st July, 2017. Contractor / Successful Bidder is bound to pay any amount of GST prescribed by the govt. of India as per the terms of contract agreed upon during the course of execution of this contract.

During the course of execution of contract, if there is any change in rate if GST (Goods and Service Tax) by the Government, the same shall be reimbursed/recovered separately by SMC. subject to the submission of original receipt/proof for the amounts actually remitted by the contractor/ successful Tenderer to the competent Authority along with a certificate from Chartered Accountant of contractor/ successful Tenderer certifying that the amount of GST paid to the government and the same shall be intimated/submitted/claimed within 30 (Thirty) days from the date of payment. Remittance of GST within stipulated period shall be the sole responsibility of the successful contractor/Tenderer, failing which SMC may recover the amount due, from any other payable dues with SMC and decision of Municipal Commissioner shall be final and binding on the contractor/ successful Tenderer in this regard. Further, the non-payment of GST to the government may lead to the termination of contract and forfeiture of security Deposit/Performance Guarantee Amount.

If imposition of any other new taxes/Duties/levies/Cess or any other incidentals etc. or any increase in the existing taxes/Duties/Levies/Cess or any other incidentals etc. (Excluding GST) are imposed during the course of the contract, the same shall be borne by the successful contractor/Tenderer only, in no case SMC shall be liable for the same.

SIGNATURE OF ISSUING AUTHORITY

sd/-

EXECUTIVE ENGINEER
WEST ZONE
SURAT MUNICIPAL CORPORATION

#### કાર્યપાલક ઈજને ર

### પશ્ચિમ ઝોન (રાંદેર)



સુરત મહાનગરપાલિકા પશ્ચિમ ઝોન (રાંદેર)(વહીવટી ભવન) બાળા સાહેબ દેવરસ રોડ, ન્યુ રાંદેર રોડ, તાડવાડી, સુરત.

ફોન નં :- ૨૭૮૬૧૮૧–૮૨–૮૩

પ્રતિ,						
		• • •				
		•••				
	વિષય :-	પશ્ચિમ ઝોન	(રાંદેર) માં	રાંદેર. પાલ.	અડાજણ.	પાલનપો૨.

મેષય:— પશ્ચિમ ઝોન (રાંદેર) માં રાંદેર, પાલ, અડાજણ, પાલનપોર, જહાંગીરાબાદ, જહાંગીરપુરા, વરીયાવ, પીસાદ, અડાજણ ગામતળ, ભાઠા, ભાટપોર, ભેંસાણ, ઈચ્છાપોર તથા રાંદેર ઝોનના સમગ્ર વિસ્તારમાં પાણીની નળિકાના વાલ્વ ચેમ્બરનું મરામત કરવાનું કામ.

મહાશય,

સવિનય જણાવવાનું કે પશ્ચિમ ઝોન (રાંદેર) માં રાંદેર, પાલ, અડાજણ, પાલનપોર, જહાંગીરાબાદ, જહાંગીરપુરા, વરીયાવ, પીસાદ, અડાજણ ગામતળ, ભાઠા, ભાટપોર, ભેંસાણ, ઈચ્છાપોર તથા રાંદેર ઝોનના સમગ્ર વિસ્તારમાં પાણીની નળિકાના વાલ્વ ચેમ્બરનું મરામત કરવાનું કામ સ્થાયી સમિતિ ઠરાવ નં. ૨૦૯૫/૨૦૨૨, તા.૧૫/૧૨/૨૦૨૨ થી મંજુર થયેલ છે. (અંદાજીત ૨કમ થી ૧૪.૭૭% ઉંચું) યુનિટ રેઈટના ભાવે અને શરતે કામગીરી કરવા સંમત હોય તો આપની લેખિત સંમતિ દિન—૦૭(સાત) એટલે કે તા.૧૬/૧૨/૨૦૨૪ સુધીમાં નીચે સહી કરનારને મોકલી આપશો. વધુમાં કામના માહિતી માટે અત્રેના ઝોનના પાણી વિભાગમાં સંપર્ક કરવો.

#### <u>પરિશિષ્ટ</u>

અ. નં.	કામનું નામ	ટેન્ડર રકમ	ઈ.એમ.ડી. ની ૨કમ	રીમાકર્સ			
٩	પશ્ચિમ ઝોન (રાંદેર) માં રાંદેર, પાલ,	રા.૫,૦૦,૦૦૦/–	૫,૦૦૦/–				
	અડાજણ, પાલનપો૨, જહાંગી૨ાબાદ,						
	જહાંગી૨પુ૨ા, વ૨ીયાવ, પીસાદ,						
	અકાજણ ગામતળ, ભાઠા, ભાટપોર,						
	ભેંસાણ, ઈચ્છાપોર તથા રાંદેર ઝોનના						
	સમગ્ર વિસ્તારમાં પાણીની નળિકાના						
	વાલ્વ ચેમ્બરનું મરામત કરવાનું કામ.						

કોઈપણ ઈજારદારનું સંમતિપત્રક મંજુર કરવાનો અથવા બધાજ સંમતિપત્રક રદ કરવાનો અધિકાર સુરત મહાનગરપાલિકાને અબાધિત રહેશે.

ઉપરોક્ત વિગત સિવાયનું સંમતિપત્રક ઘ્યાને લેવામાં આવશે નહી.

sd/-કાર્યપાલક ઈજને૨ પશ્ચિમ ઝોન (૨ાંદે૨) સુ૨ત મહાનગ૨પાલિકા

## SURAT MUNICIPAL CORPORATION WEST ZONE (RANDER) SCHEDULE - B

REPAIR WORK OF VALVE CHAMBER OF WATER PIPE LINE IN RANDER,PAL, ADAJAN, PALANPORE, JAHANGIRABAD, JAHANGIRPURA, VARIYAV, PISAD, ADAJAN GAMTAL, BHATHA, BHATPORE, BHESAN, ECHHAPORE AND ETC AREA IN WEST ZONE (RANDER)

ITEM	PERCEIPTION	OHANTITY	RATE	B==	AMOUNT
NO	DESCRIPTION	QUANTITY	Rs. Ps.	PER	Rs. Ps.
1	Excavation for Founddation including all safet provision (barricadding, fencing, reflective Cautionary Warning Sign Board Of work in progress etc.) using site rails with shoring, strutting and stacking the excavated stuff upto 50.00 mt.complete for lift and strata as specified. The excavation shall be carried out in stable slope for which no extra payment will be made. complete as directed by the Engineer-incharge. (R & B SOR 2021-22 page No.64)				
	(A) depth 0.00 to 1.50 mt.	50.00	77.30	C.M.	3865.00
	(B) depth 1.5 to 3.00 mt	30.00	85.79	C.M.	2573.70
	(C) depth 3.00 to 5.0 mtp	15.00	94.07	C.M.	1411.05
2	Excavation of ashphalt road or any kind of pavement of any thickness with stacking the same etc. complete as directed. (GWSSB SOR 2021-22 Page No.33)	30.00	305.90	C.M.	9177.00
3	Refilling of trenches including ramming, watering, consolidating, disposal of surplus stuff as directed within a radius of 3 km. (GWSSB SOR 2021-22 Page No.40)	30.00	27.60	C.M.	828.00
4	providing and laying C:C 1:3:6 (1cement :3 course sand and :6 graded stone aggeregate of 40 mm nominal size) and curing compacting excluding cost of form work for P.C.C (gwssb sor 2021 - 22, part -1 c1, lt 2.1)				
	For Pipe Encasing/Thrust Block	10.00	4275.00	Cu.m	42750.00
	For foundation and plinth.	10.00	4275.00	Cu.m	42750.00
5	Providing and construting brick work using common fly Ash bricks confirming to IS:13757,IS:5454,IS:3495 having crusing strength not less than70kg./sq.cmbrick masonary as per the detailed drawing using brick of approval quality in foundation and plinth including racking our joint,watering etc. as directed in C.M.1:6(1 cement:6 fine sand) etc.complete. (R & B SOR 2021 - 22 Page No 84)	10.00	3206.35	C.M.	32063.50
6	Providing and applying 10 mm thick cement plaster in single coat on brick / concrete walls similar surface for plastering and finished even and smooth with a floating coat of neat cement slurry mixed with admixture of lime required proportion etc. complete. (R&B SOR 2021-22 Page No. 142)	15.00	107.65	S.M.	1614.75
7	Providing and laying Cement concrete 1: 1.5:3 (I.e in proporation of CM 1:1.5:3 (1- Cement: 1.5 - fine Agg.and 3- 20 mm nominal size kapachi) including cost of reinforcement including curing etc. complete. (GWSSB SOR 2021-22 Page No. 43)				
	(A) Foundation, Footing, Base of Columns and mass concrete	2.00	5610.00	C.M.	11220.00
	(B) Slabs	15.00	6967.00	C.M.	104505.00
8	Providing, Cleaning straghtening, Cutting, bending binding in position TMT bar for Reinforced concrete work confirming to IS 1786 and Mild steel reinforcement confirming to IS 226 (GWSSB SOR 2021-22, Part-1 C1, It. 9.4)	300.00	77.705	KG	23311.50
	<u> </u>	000.00	11.100	·	20011.00

9	Providing and fixing C.I \PVC steps of size 300 x 150 x 25 mm in the masnory chamber. The steps shall be fixed at the time of constructing the chamber. (R&B SOR 2021-22 Page No.180)	15.00	194.07	NO	2911.05
9	Providing & fixing R.C.C.Precast Manhole Frame with cover in M-350 as per drawing for manhole suitable for 450x600 cm opening of M.H. including cost of reinforcement M.S. Angles or	13.00	194.07	NO	2911.03
10	Flate, curring mold work etc. complete. (GWSSB SOR 2021-22, page No 16 ,lt. 10.4.A)				
	(a) Heavy Duty	60.00	2569.00	NO	154140.00
	Providing and fixing <b>M.S manhole</b> frame and cover of required size including necessary hold fast arrangement. The frame shall be grouted in the RCC slab at the time of casting the slab including one coat of primer and two coat of oil paint. The frame shall be of M.S. angle of size 65 x 65 x 6 mm & 12 mm thick M.S plate as directed by Engineer - in - charge. (SMC Unit Rate)				
11	,	25.00	60.89	KG	1522.25
	Bailing out subsoil or drainage water by pumps as directed after excavation and during concreting / pipe laying work and keeping dry the area till the complete of work as per information given by the Engineer - in charge.				
	(SMC Unit Rate)			HP/	
12	Taking colour photographs of work in progress and	8.10	18.28	HR	148.07
	submit with each R.A.Bill Photographs shall cover details of locations of the activity of work in progress. The Contractor shall submit photographs with Album in a set comprising 3 (three) copies (size of photographs is 4" x 6") and a soft copy of the same. Work shall be carried out as per the instruction of the Engineer-in-charge. (SMC Unit Rate)				
13		28.75	30.00	NO	862.50
			TOT	AL Rs. :	435653.37
	Add 14.77 % Above				64346.00
		Те	nder Amo	unt Rs.	499999.37

sd/-sd/-sd/-Asst./Jr. EngineerDeputy EngineerExecutive EngineerWest ZoneWest ZoneWest ZoneS.M.C.S.M.C.S.M.C.